
8110 8110.5 8111 8111.5 8112
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 7143}

8110 8110.5 8111 8111.5 8112
cyclenum

3.6

3.8

4

4.2

4.4

4.6

4.8

5

5.2

5.4

5.6

5.8

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 7143}

8110 8110.5 8111 8111.5 8112
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 7143}

8110 8110.5 8111 8111.5 8112
cyclenum

0

0.5

1

1.5

2

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 7143}

8110 8110.5 8111 8111.5 8112
cyclenum

7141

7141.5

7142

7142.5

7143

7143.5

7144

7144.5

7145

ru
n

run:cyclenum {run == 7143}

8110 8110.5 8111 8111.5 8112
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 7143}



8110 8110.5 8111 8111.5 8112
cyclenum

106.5−

106−

105.5−

105−

104.5−

us
l_

1X

usl_1X:cyclenum {run == 7143}

8110 8110.5 8111 8111.5 8112
cyclenum

0.5

1

1.5

2

2.5

us
l_

4a
Y

usl_4aY:cyclenum {run == 7143}

8110 8110.5 8111 8111.5 8112
cyclenum

46

46.5

47

47.5

48

us
l_

4e
X

usl_4eX:cyclenum {run == 7143}

8110 8110.5 8111 8111.5 8112
cyclenum

18.5

19

19.5

20

20.5

us
l_

4e
Y

usl_4eY:cyclenum {run == 7143}

8110 8110.5 8111 8111.5 8112
cyclenum

39.4−

39.2−

39−

38.8−

38.6−

38.4−

38.2−

38−

37.8−

37.6−

37.4−

37.2−

us
l_

12
X

usl_12X:cyclenum {run == 7143}

8110 8110.5 8111 8111.5 8112
cyclenum

7141

7141.5

7142

7142.5

7143

7143.5

7144

7144.5

7145

ru
n

run:cyclenum {run == 7143}



8110 8110.5 8111 8111.5 8112
cyclenum

144.4−

144.2−

144−

143.8−

143.6−

143.4−

143.2−

143−

142.8−

142.6−

142.4−

142.2−

us
r_

1X

usr_1X:cyclenum {run == 7143}

8110 8110.5 8111 8111.5 8112
cyclenum

0.5−

0

0.5

1

1.5

us
r_

4a
Y

usr_4aY:cyclenum {run == 7143}

8110 8110.5 8111 8111.5 8112
cyclenum

204.6

204.8

205

205.2

205.4

205.6

205.8

206

206.2

206.4

206.6

206.8

us
r_

4e
X

usr_4eX:cyclenum {run == 7143}

8110 8110.5 8111 8111.5 8112
cyclenum

12.2

12.4

12.6

12.8

13

13.2

13.4

13.6

13.8

14

14.2

14.4

us
r_

4e
Y

usr_4eY:cyclenum {run == 7143}

8110 8110.5 8111 8111.5 8112
cyclenum

39−

38.5−

38−

37.5−

37−us
r_

12
X

usr_12X:cyclenum {run == 7143}

8110 8110.5 8111 8111.5 8112
cyclenum

7141

7141.5

7142

7142.5

7143

7143.5

7144

7144.5

7145

ru
n

run:cyclenum {run == 7143}



8110 8110.5 8111 8111.5 8112
cyclenum

32089.6

32089.8

32090

32090.2

32090.4

32090.6

32090.8

32091

32091.2

32091.4

32091.6

32091.8

us
l_

co
il1

usl_coil1:cyclenum {run == 7143}

8110 8110.5 8111 8111.5 8112
cyclenum

6571.5

6572

6572.5

6573

6573.5

us
l_

co
il3

usl_coil3:cyclenum {run == 7143}

8110 8110.5 8111 8111.5 8112
cyclenum

4176.5

4177

4177.5

4178

4178.5

us
l_

co
il4

usl_coil4:cyclenum {run == 7143}

8110 8110.5 8111 8111.5 8112
cyclenum

766.5−

766−

765.5−

765−

764.5−

us
l_

co
il6

usl_coil6:cyclenum {run == 7143}

8110 8110.5 8111 8111.5 8112
cyclenum

14391

14391.2

14391.4

14391.6

14391.8

14392

14392.2

14392.4

14392.6

14392.8

14393

14393.2

us
l_

co
il7

usl_coil7:cyclenum {run == 7143}

8110 8110.5 8111 8111.5 8112
cyclenum

7141

7141.5

7142

7142.5

7143

7143.5

7144

7144.5

7145

ru
n

run:cyclenum {run == 7143}



8110 8110.5 8111 8111.5 8112
cyclenum

27610.8−

27610.6−

27610.4−

27610.2−

27610−

27609.8−

27609.6−

27609.4−

27609.2−

27609−

27608.8−

27608.6−

us
r_

co
il1

usr_coil1:cyclenum {run == 7143}

8110 8110.5 8111 8111.5 8112
cyclenum

5531.4−

5531.2−

5531−

5530.8−

5530.6−

5530.4−

5530.2−

5530−

5529.8−

5529.6−

5529.4−

5529.2−

us
r_

co
il3

usr_coil3:cyclenum {run == 7143}

8110 8110.5 8111 8111.5 8112
cyclenum

2980

2980.5

2981

2981.5

2982

us
r_

co
il4

usr_coil4:cyclenum {run == 7143}

8110 8110.5 8111 8111.5 8112
cyclenum

591.5−

591−

590.5−

590−

589.5−us
r_

co
il6

usr_coil6:cyclenum {run == 7143}

8110 8110.5 8111 8111.5 8112
cyclenum

17818.5

17819

17819.5

17820

17820.5

us
r_

co
il7

usr_coil7:cyclenum {run == 7143}

8110 8110.5 8111 8111.5 8112
cyclenum

7141

7141.5

7142

7142.5

7143

7143.5

7144

7144.5

7145

ru
n

run:cyclenum {run == 7143}



8110 8110.5 8111 8111.5 8112
cyclenum

429−

428.5−

428−

427.5−

427−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 7143}

8110 8110.5 8111 8111.5 8112
cyclenum

72.5−

72−

71.5−

71−

70.5−1X
_c

oi
l3

1X_coil3:cyclenum {run == 7143}

8110 8110.5 8111 8111.5 8112
cyclenum

30.5

31

31.5

32

32.5

1X
_c

oi
l7

1X_coil7:cyclenum {run == 7143}

8110 8110.5 8111 8111.5 8112
cyclenum

477.5−

477−

476.5−

476−

475.5−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 7143}

8110 8110.5 8111 8111.5 8112
cyclenum

93.8−

93.6−

93.4−

93.2−

93−

92.8−

92.6−

92.4−

92.2−

92−

91.8−

91.6−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 7143}

8110 8110.5 8111 8111.5 8112
cyclenum

28.6

28.8

29

29.2

29.4

29.6

29.8

30

30.2

30.4

30.6

30.8

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 7143}



8110 8110.5 8111 8111.5 8112
cyclenum

167

167.5

168

168.5

169

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 7143}

8110 8110.5 8111 8111.5 8112
cyclenum

50

50.5

51

51.5

52

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 7143}

8110 8110.5 8111 8111.5 8112
cyclenum

11−

10.5−

10−

9.5−

9−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 7143}

8110 8110.5 8111 8111.5 8112
cyclenum

177.5

178

178.5

179

179.5

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 7143}

8110 8110.5 8111 8111.5 8112
cyclenum

15.5−

15−

14.5−

14−

13.5−

4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 7143}

8110 8110.5 8111 8111.5 8112
cyclenum

10−

9.5−

9−

8.5−

8−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 7143}



8110 8110.5 8111 8111.5 8112
cyclenum

238.5−

238−

237.5−

237−

236.5−12
X

_c
oi

l1

12X_coil1:cyclenum {run == 7143}

8110 8110.5 8111 8111.5 8112
cyclenum

87−

86.5−

86−

85.5−

85−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 7143}

8110 8110.5 8111 8111.5 8112
cyclenum

1

1.2

1.4

1.6

1.8

2

2.2

2.4

2.6

2.8

3

3.2

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 7143}

8110 8110.5 8111 8111.5 8112
cyclenum

11

11.2

11.4

11.6

11.8

12

12.2

12.4

12.6

12.8

13

13.2

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 7143}

8110 8110.5 8111 8111.5 8112
cyclenum

432.5−

432−

431.5−

431−

430.5−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 7143}

8110 8110.5 8111 8111.5 8112
cyclenum

7141

7141.5

7142

7142.5

7143

7143.5

7144

7144.5

7145

ru
n

run:cyclenum {run == 7143}
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